
11 (1)(1) (2)(2) (3)(3)

      33√√55       44√√33

(4)(4)

      √√6565

    √√5757

(5)(5)

  66
(6)(6)

       1010√√66

33

22 (1)(1) (2)(2) (3)(3)

      33√√22 99√√33

22
      √√1010

33 (1)(1) (2)(2) (3)(3)

  55   11       1010√√22

44

   33
55

   44
55

   33
44

   sinsin((AA))    coscos((AA)) tantan((AA))

55
88 44√√33xx == yy ==

66 (1)(1)
√√33

22

   11

√√22

      √√33sinsin   6060°° == coscos   6060°° == tantan   6060°° ==

(2)(2)

(3)(3)

sinsin   135135°° == coscos   135135°° ==

coscos   150150°° ==sinsin   150150°° ==

tantan   135135°° ==

tantan   150150°° ==

         11
22

−− 11

√√22
   −− 11

     11
22 −−

√√33

22
−− 11

√√33


